Herfera oaatr - 1, 2013
SUMMATIVE ASSESSMENT -1, 2013
ot / MATHEMATICS

el - IX / Class - IX

Freffa vag : 3 que JAfeRaT 3 : 90
Time Allowed : 3 hours Maximum Marks : 90
A= FEeT

General Instructions:

T+t w91 e 2

All questions are compulsory.
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The question paper consists of 31 questions divided into four sections A, B, C and D. Section-
A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions of 2 marks each;
Section-C comprises of 10 questions of 3 marks each and Section-D comprises of 11 questions
of 4 marks each.

9 U TS H 8 faehey el R

There is no overall choice in this question paper

FopaR & wa afsia B

Use of calculator is not permitted.

Eug-A / SECTION - A

U HEAT 1 | 4 T Tk W9 1 37e T §)
Question numbers 1 to 4 carry 1 mark each.

TS RIS : 643 + 5412
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Simplify : 6\/3_"’ 5412

e SgUE 3xt — 428 —3x—1 Hl x— 1§ 91 G2 Mg, & Awoher A Al
If the polynomial 3x4 —4x3 —3x —1 is divided by x —1, then find the remainder.

fo & £A =80°, BD @1 CD, %H9I: /B 991 £C % HAEYN € ol «BDC =?
A

B C
In figure ZA =80°, BD and CD are bisectors of £B and ZC. Then £BDC =?

faig (~3, 5) # x - 187 ¥ T fafaw |

Find the distance of the point { —3, 5) from the x - axis.
@ueg-a/SECTION - B

TYT WEAT 5 ¥ 10 Wk Uedish I 2 3k T ¥
Question numbers 5 to 10 carry 2 marks each.

a2z = 0.064, %, T [‘:];_mmamaﬂﬁm

1

If z = 0.064, then find the value of( 1—J3 .
Z

IUGF | WHHT TART il 249 X 251 T HF @ HIfSC |
Evaluate : 249 X 251 by using an identity.

@ ¢ ArHfa B, x 1 I 9@ BIEC 94 LPOR, LROQ T A Wt 1 Hifer |

R
4 x 2 x

5 5 g
In the given fig, find x, ZPOR and ZROQ.
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11

12

13

14

R

4x 2 x .
P O Q

<

g wifeTY foF v Y@ravs &1 T 3R Fae T € qer-fag 2 g

Prove that every line segment has one and only one mid-point.

T e TS 1 STER 4 cm € IR 9RETT 20 cm B 1 35R1 SR F10 HIHC L 2

The base of an isosceles triangle is 4 cm and its perimeter is 20 cm. Find the area.

T 39 1 IRETY 144 HeX § 90 79 F Yonel F UM 3: 4:5 ¥ 1 TS F1 e g HfSw) 2

The perimeter of a triangle is 144 metres and the ratio of sides is 3 : 4 : 5. Find the area of
triangle.

@us-d/SECTION - C

U9 GEAT 11 ¥ 20 ek Teh W9 3 ek i §
Question numbers 11 to 20 carry 3 marks each.

F W HT INEFH HIC | 3
53 - 35
Rationalise the denominator of 0
53— 345
2 &l gem W ) fruifa it 3

Locate . v/2 on the number line.

(s- i—fﬁwﬁﬁﬁml

3

Expand (4‘ L] .

3x

g (x —3) T (x - %],aﬁqﬁax2+5x+b % UAETE B, W TR fF a=b.
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16

17

If (x—3) and[x - lj are both factors of ax2+ 5x+b show thata=b.
3

95 # AB||CD, CD || EF§1 i EA L AB 3R /BEF=50°&, @ x, y 3R z 1 W ¥ SifQ 3
Ak c —1=E
D 50°
A 4 A A 4
In the figure AB || CD, CD || EF. If EA L AB and ZBEF=50", find the values of x, y and z.
A F S A}
Ak S S £

x
D 50°

& M rRfa H, POQ T Y& € ORLPQ, OS T o £ St fF fw OP @ OR & wem §1 fag 3
T LROS= %(AQOS—APOS)

S R

o ol

- 5 5
In the given figure, POQ is a line, OR1PQ, OS is another ray lying between OP and OR. Prove

that ZROS= 1 (£/QOS — £POS)
2

S

fag § 19 m < Twid @ § el T gu0 g @i p ot q w1 Sien s wa g1 fag 3
HIfST f AABC =ACDA
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19

20

A

>m

~

In the figure | and m are two parallel lines intersected by another pair of parallel lines p and q.

Show th?)t AABC =ACDA.
q

o7 § SISABC ¥ T ¥ives BE 3iR CF 99 £ 1 fag #ifsg fF AABC T wmifgag fy= 21 3
A

B C
In figure, BE and CF are two equal altitudes of AABC. Prove that AABC is isosceles triangle.
A

B Cc

Ife T e 1 v o 1 QAT ] fEan S, o 39k e § fohan afava w gfg w2 3

Find the percentage increase in the area of a triangle if its each side is doubled.

aMefd § AABC TF GHag 1y 8, f99aht 991 10 cm & 3R ADBC U& wmshiv1 fys €, foed 3
/D=90°%| AT BD =6 cm B, 7 SHifha WM 1 &hel Jd FHIAT I3 = 1.732)
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21

22

D

B C
In the given figure AABC is equilateral triangle with side 10 cm and ADBC is right angled at
£ZD=90°.If BD= 6 cm, find the area of the shaded portion (\/:%_ = 1.732)

A

@|UE-T/ SECTION - D

TET HEAT 21 | 31 A% Wk U 4 3 HT 5
Question numbers 21 to 31 carry 4 marks each.

w%ﬁﬁwmﬁ@maﬁwwmm R w R I T A F
faw, & & TR &5 %1 T Hha femn www 3 e gu =i w1 WA fwa awn firen & 5w

T % e y=rene fea am%ﬁlfaﬁmwwﬁW? T HE-91 I SRR
— N3
T R?

Varun was facing some difficulty in simplyfying ﬁ His classmate Priya gave him a
7-3
clue to rationalise the denominator for simplification. Varun simplified the expression and

thanked Priya for this goodwill. How Varun simplified ? What value does it

NNy

indicate ?

%%ammﬁﬁqaﬂtﬁﬂmmmmuﬁ4

V2 =1.414 %)
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i
%

Rationalize the denominator of and hence find its

R
2

if 2 =1.414.

R s R o ’

3

TS BT

(a=b)’+ (b= c)’+(c~a)

R I et Nl G

(a_b)3+(b_ c)3+(c—a)3

Simplify

Teh SUYR TG THH] S ST H Y, (106)° — (94)° H1 HH T HITC 4

Find the value of (106)’ - (94)*, using a suitable identity.

T S T ARG qGIR p(x) = 8x°+12°—2x—3 T TH HI YoSAI &g wIfaa ug g wiforg | 4
x="5 TS O T S|

The volume of a cuboid is polynomial p(x) = 8x*+12x*—2x—3. Find possible expression for
dimension of the cuboid. Verify the result by taking x =5 units.

OGS HIST 2 x3+13x2+32x+20 4
Factorise : x3 4 13x% + 32x+ 20

fast o, Y@ |, £A =t gAfgae € 9wl W HE g B¥1 BP 3R BQ, g B A w01 A &Y syl
WG TS § | TR fF - (i) AAPB =AAQB 3R (i) BP=BQ |

F-Y

In given figure, line 1 is bisector of an angle ZA and B is any point on [. BP and BQ are
perpendiculars from B to the arms of ZA. Show that (i) AAPB =AAQB and (ii) BP =BQ.

fg # 4 W@ W PQ R RS WER O W wiidg & §1 I POT=75°%, o 4
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30

31

a, b 3R ¢ F1 9 A FHIFSTY

In the figure, two straight lines PQ and RS intersect each other at O. If ZPOT=75°, find the

value of a, band c.

AABC ¥ AB=AC 3R BDLACTI CEIAB¥| <uisu f& BD=CE ?| 4
In AABC, AB=AC and BDLAC, CELAB. Show that BD =CE.

@ T erhfa HAABC i ST BC ! D oo &g/l T4 81 ZABC 3R/ACD & wafguris fSg EW 4
ﬁ?ﬁﬁ%,?ﬁ'@ﬁ?QﬁFABEC=}2—4BAC%I
A E

PR

B C D
In the given figure, side BC of AABC is produced to D. If the bisectors of ZABC and ZACD

meet at a point E, then prove that ZBEC = 1 /BAC.
2

AABC# £ B 3R £ C & aiiafe gafgurei BD 3R CD €1 <1ige fF 180°+y=2x ¥ 4
A
O

B C

In AABC, BD and CD are internal bisector of £ B and £ C respectively. Prove that
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